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9th Mathematics Guess Paper
Annual Exam 2022

It | hallenge that Y n aget 75/75 Marks
Short Question No. 2

1. Define equal matrices. N RPN
2. Define column matrix. Y N R
3. Define square matrix. gl G, 3
4. Define scalar matrix. S S 4
5. Define unit or identity matrix. S S E e384 e 5
6. Differentiate between singular and non-singular matrices. _q/ e OF U6 st sl ik 6
7. Define common logarithm and natural logarithm. _q/u;u} J(Z{/@ 3.4 sl (E/@ L7
8. What is antilogarithm? fe L“I(E/@ i .8
9. Define surd. SR N S P- A PYCA
10. Find the values of a, b, ¢ and d which satisfy the matrix equation. [:j: Z;__zg } = [g ;; }

[a+c a+2b:|=|:0 _7:| -ujg}éfﬁ'uu[@!wﬂénd}zg{r}’”ﬁJdmafb:c 10

c—14d-6 3 2d
" [ o] [ o] ) 11
Find transpose matrix of following matrix. A =| 1 I A =| 1 I LG 1 I e s &
L 2 ] L -2 ]
* 12 i . Yoy 1277 .12
fA = 01 , then verify that: (A=A (Abt=A S L DT A= ' ’

N . i . vy 1177 .13
If B = 20 , then verify that: B =8B (Bl =B S E I B = o 1
* .14
Find additive inverse of the following matrix. F = V3 E= V3 1 ﬁér}y SR NI

-1V2 -1y2

8. c= [1 =1 2] then find the following matrix. C+[-213]

\

C+[-213]- &~ Hdizwenduiac=[1-12]/.15

16. .16

—\

IfB=[_11 } , then find the following matrix. (-1)B (-1)B -;?/(,J"‘ 6 S5 oskr e a JJi?nB=[_11]

7c= [ 1-12 ] , then find the following matrix. (-2)C

(-2)C -Er Lz nduizc=[1-12]017

18. _ )
IfA=[1 2]andB={0 !
3 4 3 4

8] then find: 2A-3B! 2A-3B' i T w B =[ 03 ;]A;A = [1 ‘2]/1 18



19.

20.

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34,

35.

IfA = [ (1) ? } and B = [; (1) } then verify that: A-Al is skew symmetric.

01

_‘L%/JGJ%}.,;V‘QA_At -é&iﬁ&d}'@ﬂ?ﬂB:[; :):|/}'A=|:1 2:|ﬁ

12 11 ) . .
fA= and B = then verify that: B+Bt is symmetric.

Find the following product.

dﬁ¢ﬂﬂf4mﬂ?-éQMJQ%wLm=[;”mA={;ﬂﬁ

[1 2][3 E eSS e

resif 2 -2 resil o -3 .

Find the following product. | II 2 72 I | || 2 73 _E e el e
L BT o404 4 ]

Find the determinant of the following matrix. D = [:15 ‘21]

Find the multiplicative inverse (if possible).

Give a rational number between % and g .

Express the following recurring decimal is the rational number P \where p.qareintegersand g =0 . 0.5
q

D=|i?i:|<ér)b’dﬁ’ggﬁ'(j‘5@ﬁ

r137 p .

p=|2 4 |-(ng5'ﬁ)~érk*uﬁfq/hw;nzf;§,
L1 2]

- Low B4 Lupn Ll g 3 %)U&I

0.5 <un;|ﬁl§q¢0/;!p,q,§<gj“//yl£uf B;ﬁﬁbb/;ﬁdﬂfijg/;f
q

Express the following recurring decimal is the rational number P where p,qareintegersand g = Q . 0.13
q

0 ﬁ -u;mi,wlé’iq¢0/5!p,q.{z/?-q//;l£uﬁB}ﬁ&kl}ﬁdﬂf‘f“}g/ﬂ
) q

Simplify the following radical expressions. 3 125
Simplify the following radical expressions. 5 3_32
Simplify the following radical expressions. 3 _2_87

Use laws of exponents to simplify. xSy~ H(-8x3y?)

Y25 -Edw EF L du S KL
g Edr e F A dn S F s e

3 _2_87 EdratFadu/F LS e

(2X5y—4)(_8x—3y2) ,“é/’:{f(f“; IR Sk d/ufl;’.ﬁb’ =f

Simplify: x3)2+x¥ x =20
Evaluate. 7

Evaluate. (—2)®

Evaluate. 727

x3)2+x¥ x =0 A

;g
(- e
A

.19

.20

21

22

.23

.25

.26

27

.28

29

.30

31

33

.34

35



36.

37.

38.

39.

40.

41.

42.

43.

44
45,
46.
47.
48.
49,

50.

51.

52.

53.

54.
55.

56.

57.

Write the real and imaginary part of the number. -14+2; -1+2; e S0l Feoud 2
Find the value of xand y if x + y +1= 4—3¢ . X+ i+ = 4—3i/ﬁ:d“/()h"o€g(ymx
Express each complex number in the standard form g + b 7 , where a and b are real numbers. 2(5+4¢) —3 (7 +4<)

2(5+47) =3 (T+47) -ur w1 G bua £ LSS b 2 E S bl o & 7 s pon
Simplify and write your answer in formof a+ bz . (2 _\/__4)(3 - \/__4)

(2_'\/__4)(3—'\/—_4) 'U.://j;uﬁyJa‘Fbi[Jj,.?/ﬂ

Simplify and write your answer in form of @+ bz . (,/5 — 33-)2 «/5- 35)2 G A REF S a+bid S
Simplify and write your answer in formof g+ b ¢ . 1__'_2. 1_+2. -J“//‘“} sF d/a +bol S5

1 12

A g A 4 . .

Simplify and write your answer in formof g+ b ¢ - 2767 _4+¢ 2760 4ts «[//") oS Ja +b i/JJ et

3+7  3+<¢ 3+7 3+«

Ifz=2+4+3;and w=5—4, show that; %(z +Z), is the real part of z

LLJ’L}E}KZ:%(2+Z—) S GP I =544 z2=2+3;
Express the following number in scientific notation. 5700 5700 _“é/ n (f] & e s Sy
Express the following number in scientific notation. ~ 416.9 416.9 _“é/u: (f"/" U s EYpES
Express the following number in scientific notation. 0.00643 0.00643 ‘“é s rf S e s oIk
Express the following number in ordinary notation. 9.018x 10 9.018x107° ,“&Vu: (f/“ e S fs osnr
Find the common logarithm of the following number.  0.00032 0.00032 ,é(}v f”?/@ e € f3 osur

What replacement for the unknown of the following will make the statement true?  logs 81=L

logs 81=L €€ xt ooy e fs poir & Lo U et
What replacement for the unknown of the following will make the statement true?  log, 6=0.5

log, 6=0.5 6 5t s e 3 pssir & £ d S b
What replacement for the unknown of the following will make the statement true? ~ 10P=40

100=40 €€ vt s e 3 powr & Loed 7§ 0

1 1 5
Evaluate. — — ST Y.
vau 199 2728 10 2728 e

Evaluate. log 512 to the base 2+/2 log 512 to the base 24/2 -/ (# =d

Find the value of x from the following statement. logox =5 logox =5 _Q/()V =d Jx o el S s
Find the value of x from the following statement. % =10g 4,48

x b i o

E=|09648 UL e xcuf.:/bl/dz.yw

Write the following into sum or difference. log 25; S log 25; S -J»J VAV AL Lesd L r;{ ey DA

.36

37

.38

.39

40

41

42

43

A4

45

46

A7

48

49

.50

51

52

.53

.54

.55

.56

57



Write the following into sum or difference.

58.
59.
60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

.

2.
73.

74.

75.

76.

77

25 x 47 o 25
29 9

log

Express the following as a single logarithm. log 5 +1og 6 -log 2

Calculate the following. logs3 x 109325
2,3,5
Reduce the following rational expression to the lowest form. 120x%y"2”
30x3yz2
120x2%y32°
30x3yz?
+1
Reduce the following rational expression to the lowest form. %
2(x*—1)
8alx+1)
2(x2-1)
3, —
Evaluate. XY =22 forx=3, y=-1, 7=-2
XZ
+
Perform the indicated operation and simplify. ~ (x2—49). 5X+ 72 (x?—49).
X

lfa+b=5and g—p=./17, thenfind the value of ab.
Factorize: 8x°— ——
27y
Express the following surd in the simplest form: 3./ 162
Express the following surd in the simplest form: 9/ 96x° y7 78 3/ 96x° y7 78
Simplify: — 18
V32

Simplify: —M

Vv 63

Simplify: 2/ 243X5y10215
4,
Simplify: 3 V125

Simplify: /21 x+/7 X+/3

Simpliy: (3++/3)(3—+/3)
Rationalize the denominator of the following: 6
NN
o , , 1
Rationalize the denominator of the following:
3+2/5

If x=2—./3, then find the value of % .

I x=,/3 +2, thenfind thevalueofx+%.

34/ 162

logs3 x 10g325 & o =d § s s

Jlde A FE g A e P e

JIde EFE g A P Sss

3, — .
x=3,y=-1,722 G XY T2 S e

XZ

X++72 Gt S L
X

g Sabing—p= /17 #la+b =51

8X3 —

> S SA
:inu:yd";/‘:?/fiﬂﬁf(jj@/)
:J:Ju:fq}/“}’/(‘uw‘isw

V18
V3V2

VI
J63

5/ 243X5y10215 Jn//i;
%?/125 (S

J2TXJT x/3 /A~
(3+3)3-3) v/~

6 b P LS osne

vENFI

1
3+2/5

:4&&%/6}&&33/%
.3 1" f
<5£K)L"V43J;}’M’X=2__\/§//’

BTN NI LY A
= "JX+X Ix=1/3+2

A AL PG A LT s

log 5 + log 6 - log 2 _:L:f/;tEufJﬁJ(Ef)ylu’/Jjg/# .58

.59

.60

.61
.62
.63

.64

.65

.66

.67

.68
.69

.70

1

72
.73

74
75

.76

17



78. - 1-.78
IfB=[ 1 1],thenfind|B|=detB- -“érﬁl‘”|8|=detBMB=[ P
-23 -2 3
79. . 1-.
IfA=[_2 _1 ],thenfindtheinverseofmatrix M. -”é(}’”u’ﬁ‘d/KM_/wnA=[_21 _13 A 7
80. —
If[a+3 4 ]=[ 34],thenfindaandb.
6 b—-1 6 2

81. 2
Find the value of X, if [ 3

82.

Use rule of exponents to simplify the expression and write the answer in term of positive exponent.

(4a%°)
\ 9a7% )
4
83. Simplify the following by using laws. ( ) 3
84. Simplify the following by using laws. %
85. Simplify the following. /2507, 8m
86. . 1
Ifq=ﬁ+2,flndq+a
87. m
Prove that log , - )= log,m—logn
88. Ix+mx—Ily—my

Reduce the following algebraic fraction to its lowest form. > >
3x°—3y

_érﬁj’”vid/auibugﬂi[a-'-s 4 ]:[_3 :-ﬁ -80
6

-2 . .. .
,(IE..:‘{"V&J)édidﬁfﬂa/&d};zﬂcuJu:!)’ s

q+l_Q/r)L"c4{’:'JJ~5@/J;n
q

y ﬂ/zquJm“

}x

(4a%0° )"
\ 9a7°% )

.82

( )%_éﬁau({dﬁ!]/djg;ﬂ 83
# Zf//’:.ud/u*uifd’;wy -84

A/ 25X10”y8m -..é/ﬁ/d'.} s .85
q='\/€+2/ﬁ .86

. .87
Ioga(%) =log,m—log,n Sy et

Ix +mx—Ily—my J‘Ju‘fu//’)&fd'fé‘iuh‘f/"bc“ .88

3x2—3y?

Q2.  Write short answers of the following questions. 1X60=60

S 1F Mz L ey s pise

1. What is remainder theorem?

2. Define factor theorem.

3. What is meant by highest common factor (HCF)?
4. What is meant by least common multiple (LCM)?
5. Define linear equation.

6. Define an ordered pair.

7. Define a cartesian plane.

8. What is abscissa or x-axis?

9. Factorize the following expression: — 3x2 y—3x+9 Xy2
10. Factorize the following expression: 144 g2+ 24q + 1

1. 02 b2
Factorize the following expression: b_ -2+—
a

fe 0L 1
NS NN S
?Lg)i/gcrﬁ}!;l& 3

Sl y g; ng Sk2lss 4

(8]

_u:/(bé-’/.}.d/;z’ﬁl/‘&/}b{.

(9.}

=)}

NSRS

S NN

?+g75xgw4 8

—3x2y—3x+9xy? ‘E AL E 5L

=

]

14402 +24q+1 & 67 S & 500 .10

2 2 R 11
"—2—2+b_2 E AL S
b a



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25,

26.

27.

28.

29

30.

31.

Factorize the following expression: 12x2 — 36x + 27 12x2 = 36X+ 27 = 6F L 42 it

Factorize the following expression: 3x2 — 75y 3x2 =752 E AL S
Factorize the following expression: 128 am? — 242 an? 128am?—242an? & 65 S & fits
Factorize the following expression: 3x — 243 x3 3x—243x3:Z 67 S & Jien
Factorize the following expression: x2 + x — 132 X2+ x—132 :q/df," S i
Factorize the following expression: 27 + 8x° 27+8x3 WS 6 & Sin
Factorize the following expression: 8x3 + 1253 8x3+125y° VAT NP -AVHN
Use the remainder theorem to find the remainder when: 4 x3 — 4 x + 3 is divided by 2x — 1.

eV o1 i — a3 £ Bl (8L 2
Find the H.C.F of the following expression. 39x"y3z, 91x°y%z"  39x"y3z, 91x°y82’ igE fﬁ" LY AV
Find the H.C.F of the following expression. 102xy?z, 85x°yz, 187 xyz?
102xy%z, 85x2yz, 187 xyz? & (# (16§ & s 2o
Find the L.C.M of the following expression. 39x7y3z, 91x5y627 39X7y3z, 91 x5y627 15(}’” Fi ko €02 f5 oue
Find the L.C.M of the following expression. 102xy?z, 85x°yz, 187 xyz?
102xy22, 85x2yz, 187xyz? idt (" 1 Sesisi € 22 fs o
For what value of kis (x +4) the H.C.F of x2 + x — (2k+2) and 2x2 + kx — 127

U Dx2+ kx—1220x2 + x— 2k +2)UM < (716 (x+4) £ £ =d Sk

+ + . -
Simplify the following as a rational expression. A — % where A = 2 1 aA=2 1 LA —% «J"//‘; S S e
a-— a-—

1
Use factorization to find the square root of the following expression. x2—1+ F (x =0)
X

XE= 1t (e 0) < P i K2 s GF i
X

Use factorization to find the square root of the following expression. %Xz - % xy + % y?

%xz—%xy+%yz ~“é"}l"”d/|/,w K&J,,},?/,wdf,”,g/@

Solve the following equation. %x - %x =x+ % %x - %x =x+ % L e Sl S5 i

Solve the following equation and check for extraneous solution. /3x+4 =2
[3x+a=2 L E LSS0 g/ S S e s
Solve the following equation and check for extraneous solution. / x—3 —7 =0

Jx=3-7=0 S E Iy S8 g S S il 50

12

13

.14

15

.16

.17

.18

.19

.20

21

22

.23

24

25

.26

27

28

29

.30



Solve the following equation and check for extraneous solution. 2./t+4 =5

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44

45,

46.

47.

48.

49,

50.

51.

52.

t+4 =5

‘,u:/uidl??“d/‘jﬂi duinlu“"/gja:’/ol}b/dj@u

Solve the following equation and check for extraneous solution. §/ 2—t= f/ 2t—28

Yo—t=32t-28

Solve the following equation. |3x—5|=4

Solve the following equation. |2x+5| = 11

Solve the following inequality. 4 — %x > -7+ %x

Solve the following inequality,. —4 <3x+5<8

X—2

—-6<
4

Solve the following inequality. <6

Solve the following inequality. 3x—10<5<x+3

U E Iy S8 g S S il S50
13x=5|=4 -/ ¥ er S 6l 5 o
|2x+5| =11 -/ e S € il 5 oone
4—%x2 —7+%x G S el 5 o

—4<3x+5<8 LSS S ene F o

_< X—2

<6<Q/J7/:415L»/,:;J“5.?/;f

3x—10<5<x+3 /S S eblr & s o

Find the value of m and c of the following line by expressing this in the form y=mx+c. 2x+3y—1=0
2x+3y—1=0 -/ # G S enmat &S 6 y=mxte S ebls dn
Find the value of m and c of the following line by expressing this in the form y=mx+c. 3x+y—1=0
3x+y—-1=0 «Q/()-V S Lemmo £ &S 6 Ut y=mxte  els (e (6
Find the value of m and c of the following line by expressing this in the form y=mx+c. 2x=y+3
2x=y+3 gL U Semmat & LS 46 S y=mxte f ehie (e 6
Verify whether the following points lies on the line 2x —y+1 = ornot. (2,3)

cuﬁ’kmgljézx—y+1 =0 Jﬂb@zé_—) "; gféi/&jﬁ

(2,3)

Verify whether the following points lies on the line 2x —y+1 =0 ornot. (—1,1)

(=1,1)

Verify whether the following points lies on the line 2x —y+1 =0 ornot. (5,3)

.

?uﬁ;gwél}/‘:ZX—y+1 =0J/U£@£%Jégfég2ﬂ

o

(5,3) U L Cl g 2x—y+1=0 AL o S S E G

Factorize. 25x2 + 16+ 40x 25x%+ 16+ 40x -/ 67 § £ Ui e
Factorize. 12x2 — 36x + 27 12x2 = 36x+27 -/ 6 L &2 Ui e
Factorize. 9x* + 36y* A Soxt+ 36y*
Factorize. x2 4+ 5x — 36 X2 +5x—136 -/ 67 & & it
1+2ab—a?—b2 LS S & i

-Ujk%‘}/}’fgx3—4x2+3x+2 L?//?((X_2)~'/J,/d1;

Factorize. 1 +2abp — a2 — b2
Determine if (x — 2) is a factor of x3 —4x2+3x+2.

Factorize. 1 — 125x3 1- 125x3~§v'f~“

Factorize. 4x? — 162 4x%—16y? UL EF S S

31

32

33

.34

35

.36

37

38

.39

40

41

42

43

A4

45

46

A7

48

49

.50

S1

52



53.

54.

55.

56.

57.

58.

59.

60.

Factorize. 1 — §42°
. 3 1
Factorize. 8x~ — 3
27y

Factorize. 25m2n2+ 10mn + 1

Solve the equation. >3 "%

Solve. |8x—3| = [4x+5]|

Solve. |3x+ 10| =5x+6

Solve the following inequality. — %x +5<1

Q3.  Write short answers of the following questions.

Use factorization of find the square root of the expression 4x2 — 12x+9.

1X60=60

1—6473 U/ 57 &8 5w 53

1
27y°

.54

q/d/"&ﬁuf;@)

8x3—

25m2n2+10mn +1 -/ 67 § &2 L3z 55

R U K 4y x4 9 & GAISF 2k 56

3_2X_X_;2 =2_65<J"/Ja/ol}l/(j~5.7/»‘f 57

gL e SE|8x—3| = |4x+5] 58
0SS A13x+ 10 =5x+6 .59

—%x+55 1«%/()7:’/.:,!5[/‘/:;&5@/) 60

-(J,://../” :«@l!./“g L ey J.'j DILA

9.

. Write the definition of co-ordinate geometry.

. Write distance formula.

. Differentiate between collinear and non collinear points.
. Define isosceles triangle.

. Define a parallelogram.

. Write Pythagoras theorem.

. Define congruent triangles.

. What is meant by S.A.S postulate?

What is meant by A.S.A = AS.A?

10. What is meantby S.S.S = S.S.S?

1.

Y Ry Ry D
~E U6 et 2
SO A s A3
gS el AUl 4
gL S s s

iy G e 6

S SR S g

fe sl Ve o (i f)SAS 8
Se sl Ve IS 9

te i Ve SO = PSS 10

What is S.S.S postulate?

12. What is meant by H.S = H.S?

13. Find the distance between the following pair of point: A (2, —6), B(3,—6)

14. Find the distance between the following pair of point: A(—4, ﬁ), B(—4, —3)

A(-4,~/2),

18. Find the distance between the following pair of point: * A(3, — 11), B(3, —4)

16

fe W err S 1L

e e a2

A(2,-6), B(3,—6) i (# b £ iz L b6 f5E 13
B(—4, —3) & (# Miokn L iz L6 it 14
AB,—11), B(3, —4) :& ¢ bbb £ ez Z 16 Jitw .15

Let P be the point x-axis with x-coordinate a and Q be the point y-axis with y-coordinate b as given below. Find the distance between P and

Q.

a=2,b=3

. . .16
Z:QuiPLLEJ-%@/)é;(:ﬁ_‘ab)ﬁy-guﬂul%di;/vfg!y—ita,lﬁjug!Q-Laaufx—gu’lm96!54f6x—b£9ﬁul_{!P//!
a=2,b=3 /) b



17.
Let P be the point x-axis with x-coordinate a and Q be the point y-axis with y-coordinate b as given below. Find the distance between P and

Q a=/2,b=1

éQz;!wa-LZ/JJi{‘."-Lbufy-l{u’l/;lgdu//(ly—iabfbﬁ _La}fx—gu’i/;lLdl://(lx-biLJ:ﬂUlVOP//
a=+/2,b=1 (S e s s
18. Find the mid-point of the line segment joining of the following pair of points. A(—8, 1), B(6, 1)
A(=8,1), B, 1) B3nbs S Lufcinl 16 U5 oou 18
19. Find the mid-point of the line segment joining of the following pair of points. A(—4, 9), B(—4, —3)

A(=4,9), B(—4, —=3):& ¢+ Edpnbs S lufeiznl 165 o 19

20. Define a parallelogram. gl S S g 20
21. Define a ratio. SISy 21
22. Define proportion. Gl S 22
23. Difference between similar and congruent triangles. -q/ ke O U ek J‘u"* sl LB 23
24, Define pythagoras theorem. And write its formula. G FE i g S S e e e 24
25. Define converse Pythagoras theorem. 4)"/ ¥ /7 Sefe o JG .25
26. Define triangular region. _Q/.Q/J Jﬁw CA“” .26
27. Define rectangular region. -Q/ 7 3w J%V 27
28. Define altitude of a triangle. S S L ek 28
29. Define concurrent lines. S S s 29
30. Define point of concurrency of lines. SIS w SIS L 30
31. Define incentre of a triangle. G S dein £ ek 31
32. Define circumcentre of a triangle. SIS e L ake 32
33. Define orthocentre of a triangle. SIS o Loads 33
34. Define centroid of a triangle. JSa S, L sl 34
35. mAD 3 A
In AABC, DE || BC: If 5B 5 and mAC = 4.8cm. find mAE.
o .
. > c
: L1+ 8 SmAEY *mAC = 4.80m :gg %j’:D_II JAABCJ"
. €
. > o

36. Following are the measures of sides of triangle. Verify that triangle is right-angled. a = 5¢cm, b=12cm, c=13cm

a=5cm, b=12cm, c=13cm e 26 2l LGS Gad 5 sk P S U £ 2t 36



37. Following are the measures of sides of triangle. Verify that triangle is right-angled. q = 9cm, b=12cm, c=15cm

a=9cm, b=12cm, ¢ = 150m -& 17126 &b LS Gud g s powe 0P § Qo £ 2k 37

38.
Verify that g2 + b2, g2 — b2 and 2ab are the measures of the sides of a right angled triangled where a and b are any two real numbers (

a>b).
Uit e a>p)sla b fun e Stun L s 121246 L1 2ab 1 g2 _b2:az+b2.fq/@ﬁ .38
39. The three sides of a triangle are of measure 8, x and 17 respectively. For what value of x will it become base of a right angled triangle?

WLl foul §ake 268 L L eF S x ot 17 x 8 P Uil S £ 2k (1 39

40.
A plane is at a height of 300m and is 500m away from the airport as shown in the figure. How much distance will it travel to land at the airport?
it
A
A0
=
B 500 L]

-~

eyt e AL L5 ey st £ U1 e 500m el Bl e 2y 70 6 U1 2 b §300m Az S1oe LT b £ B F S 2040

Al
A
300w
"
B S00m o
it
41

- Construct A ABC inwhich: mCA =3.6¢cm, mBC =3.9cm, mAB =4.2¢m

mCA =3.6cm, mBC =3.9cm, mAB =4.2cm U U Uk AABC 41
4

N

+ Construct A ABC inwhich: m /£ C=75°, mCA =3.5cm, mBC=4.2cm

m/ZC=75°, mCA=3.5cm, mBC =4.2cm (s ot U AABC 42
43. Using the distance formula, find the distance between the points. S(-1,3), R(3, —2)
S(—1,3), R(3, —2)-US 5 b s £ usirr £ 46 S50 = 5a S 05 Lot .43

44. Find the mid-point of the line segment joining A(2,5) and B(-1,1).  _c G1s ; AB 15 o5 2 25 4 15 B ¥ B(-1,1) 1 AQ2,5) 46 1> .44

45. Find the distance between the following pair of points. (6, 3), (3, —3)

6, 3), (3, =3)-u) r# Mb s L usin L b6 L3t 45
46. Find the mid-point between following pair of points. (=5, —7), (=7, —5)

(=5, =7), (=7, =5)-&-t: 5 v n¥c izl bE J3n 46

47. Find the value of unknown for the given congruent triangles.



(5x+5)

B 5m3 D 2m+6 C
A ‘.u“’/r}”'/iﬁfd/xz:lmr)’”bcu}w&gft}"éfd: 47

(Sx+5H)
- H L] H
B 5m-3 D 2m+6 C
48. If the given figure ABCD is a parallelogram, then find x, m. D C
(5m+10Y’ 1%
55"
A B
D Co S i $mot x 3 s Lo §515 L1 ABCD ST 2t F2 § 6 21 48
(Sm+10)" 11
55"
A B
49. The given figure LMNP is a parallelogram. Find the value of m and n. P B ™
55
4dm+n 10
55
L 8m-4n M
P 8 Nz o e S m e w17 61 LMNP U B § 5 2L 49
55
4m+n 10
55
L 8m-4n M

50. In the given figure LMNP, sum of the opposite anlges of the parallelogram is 1107, find the remaining angles.

F B ™

(%]
h

Adm+n 10

L 8m-4n M
LSS e § e U e 110° 25 € sty I 55 £ G 15 U5 LMNP B 6 & .50



(%]
"

4m+n 10

N
h

L 8m-4n M
51. Is the following set of lengths can be the lengths of the sides of a triangle? 3cm, 4cm, 5¢cm
3cm, 4cm, 5cm ?Laﬁclgét’«.w;:{w g_%qgugu S e Zeda fs oine 51
52. 3cm, 4cm and 7cm are not the lengths of the triangle. Give the reason.
g el e S 0 o St £ 2k 7om 4 3cm, dem 52

53. Find the unknown value of the following figure.

dem x

3cm
gL e E Ex et B e 53

dem X

3cm

54. Find the unknown value of the following figure.

X 13cm

Scm
S e e d Ex et B dses 54



55. Find the unknown value of the following figure.

® 13cm

5cm

Z2cm

1cm
_q/(}’f@{"u/xr}"tut‘ﬁj;@n 55

X E cm

1cm

56. Find the area of the following.

3cm

57. Find the area of the following.

Bom

_Q:/(}l’” ,:5/ KJ{’ J“)' tr .56

3cm

Bem
g e S8 it 5T



dom dom

58. Find the area of the following. gcm
4ecm
gcm S 5K Ui 58
4em
59. Find the area of the following. S S Ui 59
10cm 10cm
16cm 16cm
60. Define altitude or height of a triangle. gl S K et 60

Long Question No. 1

1.
fA = [1 2] ,then verify. A(Ajd A) = (Adj A) A = (det A)l

A(Ajd A) = (Adj A) A = (det A)l v“é&iﬁu%@»?:fm[l g}f"l

\

2 _ I . - 2
IfB=[3 ;},thenverify.BB*=I=B_1B BB '=/=B7'B -éi%ﬂ(fi:‘@ninB:{z ;:||

3

Use matrices, if possible, to solve the following systems of linear equations by (i) the matrix inversion method (ii) the Cramer’s rule  2x+y=3 ;
Ex+5y=1

. . _ 3
cuJu]ﬁ'éﬁ/(ii)cuJupéufc(i)-ér}‘”uﬁ Jy/;lxaif.::‘ufgf}?Lu?!;bﬁ%dnd:;}fdg//’cud/b.ajl?

2x+y=3; 6x+5y=1

4

U's% ma:r(i)ces, if possible, to solve the following systems of linear equations by (i) the matrix inversion method (i) the Cramer's rule  3x-2y=-6 ;
5x-2y=-




< 4 Jujl? Lﬁ/(ii)c’.u JJ:Q’Z:U/VJG'(I)-;:/(PU,?‘: Jyu!x;u!/f"“”uié.}’}?iu;bbfﬂ&ndﬁ"n&/ﬁau d/..x’l?
3x-2y=-6 ; 5x-2y=-10

(81)"x 3%°—=(3)47~1(243)

‘Use laws of exponents to simplify.

(9°")(3°)
(81)" x3°- (3)4” 1(243 _ci//} [J; IR, e e JLf’i Ly ._d’
(92)(3%)
6. (x a\a+b (Xb\b+° ( x¢\eta (X a\a+b (Xb\b+c /Xc\c+a 6
Prove that: [ — 1 x| =1 x| X | =1 A N N _1;(“5;4"
=) “Ge) e \xt)  “{x) “x9)
1. 2/3 1/2 2/3 7
o (216)73 x (25) (216)7° x(25)
Simplify: c{/ﬁ
Implity \/ ('04)—172 \/ﬁ—( on) A

8.Solve the following expression for real x and y. (3—22)(x + y<) =2(x—2yz)+2:—1
(3—25)(x+yi)= 2(x—2yz')+2i—1 vu:/’/da u':yﬁleg’ilff g3 oI k.8

9. .. (aP\P*a (g
Simplify. (F) .(7

N————
Q

p - + r
Ve s(@.aP T a%0 ALY (AN o apr a0
\a?) \ad )

10'Simplify.g/§ xg/‘;:r: xﬁ - -Q//‘»'?/ﬁ/% X?/Z:: X ﬁ.lo
Long Question No. 2

0.678 X 9.01 0678x9.01 . —
= = ~ = A Ky : /CJ
0.0234 0.0234 T i pur e

1.
Use log table to find the value of the following.

2.Use log table to find the value of the following. §/2 709 x {/1.239

82700 xX[1.239 -4/ # A S prie e 0u S s £ T2

3. 3 o5 7
Use log table to find the value of the following. _83xv92 _83xv92 -J/pl” s JJ; SIS Ik JJW //)
127 x 3246 127 x5746
fv= %nrzh,find V,whenr=25, T = 2—72 andh=4.2 h=42 s = 272:r=2.5,?<q/()”¢§JV§nv= %nrzhfiA

5.
Perform the indicated operation and simplify. i *1 2 4
X

-1 x+1 x%+1 x*-1

1 - 1 - 2 - 4 _Q//HLML/KJJngJS

x—1 x+1 x%2+1 x*-1

X*+xy x*+xy . x*-—x
yx+y) yix+y)  xy—2y

"Perform the indicated operation and simplify.

x2+xy.x2+xy: x?=x J/ﬁ;;yc//fd/cffiL’
yx+y) yx+y) xy—2y

7.If a%+b2+¢?=45 and a+b+c=-1, then find the value of ab+bc+ca. g e Sab+betcay s atbre=—1 sl a>+b>+c2=45 /1.7
8.If m+n+p=10 and mn+np+mp=27, then find the value of m2+n2+p2, gk s $ mP+n2+p? ¥ 5 mn+np+mp=27 5 m+n+p=10_1.8
9.If x+y+z=12 and x?+y?+z%=64, then find the value of xy+yz+zx. gL G xytyztzx § s x24y?+22264 1 x+y+2=12 1.9
10. 1) , . 1 . 1) .10
If | 3x + — | = 5, then find the value of 27x3 + g e d §2Tx P —— T | 3x+ — | =51
7 ax ) 27x3 ol 27x% T\ 3x)

1. . 1 (1Y =5 1Y 1. .11
IfX=2+ﬁ,theflndthevalueofx—; and kX—;}. -LJ/(!L‘”UJ’{J( _;) /5'X—;j37x=2+,\/§//’



12 _ +
V3 1+ﬁ 1=a+b\/§_

'Determine the rational numbers a and b, if

J3+1 J3-1
. - 212
_J"/(}J‘”u,‘:‘jd/bnia)ml‘}bt;‘.ﬂﬁ 1+\/§+1 =a+b\/§/ﬂ
V3+1 J/3-1
By find p2+— Ny PN NI gt
p=2+/3.fndp™+ 5 it L0k i p=2+44/3
14, 7 7 2 7_ .14
Simplify.\/a +2 +4/a%-2 Ja?+2+ya 2‘%//2;
Ja?+2-ya*-2 Ja?+2-ya*-2
15. 1 1 1 1 .15
Simplify. - _ ﬂj’//,;
a—-y a’=x? a+ya?-x? a—-y a’=x? a+ya?—x?
1. N ) R
Factorize the following expression: x*+ i4 -3 x“+i4 -3y i d & df;zw'l
X X
2.Factorize the following expression: 4 x4 + 81 Ax*+81 U SF L Sinn

3.if x+2 is a factor of 3x2 — 4 kx — 4 k2, then find the value(s) of k. -/ ¢ s Skind sz {3x2—4kx—4k2L?/fffx+2 A3
4.1 (x—1) is a factor of x3 — kx2 + 11 x — 6, then find the value of k.
S kT ndA T8 P+ 11x—60 0 (x—1) 14
9.For what value of m is the polynomial p(x)=4x3=7x%+6x—3m exactly divisible by x +2?
WS g1 p(x) = 43— T3 +6x—3mS F x+2 L Led U U m S ks
6.Determine the value of k if p(x) = kx> +4x%+3x—4 and q(x) = x3—4x + k leaves the same remainder when divided by (x — 3).
€28 Ut LS L (x=3) 7g(0) = 3= dx+ k#p(x) = kP + ax2+3x— 44U F L L2F U ke
7

The polynomial x4 + [x2 + mx + 24 has a factor (x+4) and it leaves a remainder of 36 when divided by (x — 2). Find the value of | and
m.

S G 1o 36 8T e U 4 (x=2) £ U1 e Gt Pk mx+ 2400 2 (x+4)T
8.The expression gx3 —9x2+ bx + 3q is exactly divisible by x2 — 5x + 6. Find the values of a and b.
o U Sosace b 5 L30s (2~ By + 64 ax®—9x2+ bx+3al s A8
9.Find the value of k for which the following expression will become a perfect square. x* —4x3+ 10x2— kx+9

x*—4x3+10x%— kx+9 -5‘?&@5/«)"(/5J5e/ﬂcaﬁ%/rﬁ“”égufk.9

10. a+b a’—ab a+b a’—ab p .10
Simplify. + + S A5 s
Y 20 T 2ab + b2 a’—b?  a?-2ab+b?
Long Question No. 4
1. 2
Solve the following equation. X _=o- 2 L X #E2 X =9 X y=2 -Q/(}l"&rdp{c«bl/uf},?/ﬂ'l
3x—6 x—2 3x—6 xX—2

5 5

2'Solve the following equation x__2_ X #
g€ Co2x 3 4x+10’ 2

+5



2x 2 5

, X
2x+5 3  4x+10

Z —g _J“/r}"b"{dagc«l}bfd;',wﬁ'z

3.Solve the following equation. xz—x +

2 1 il 2 B . : .
—x_x + 3= § + 1 X _—.ér 1 'u:/’/pl’”uffgu’;l/d;;/y.3
4, , , 2 1 1
Solve the following equation. - = ,XZ 11
x2—1 x+1 x+1
2 1

X Z= 11 «Q/(#&{J(&UVJJ;/IC/A

x2—1 x+1  x+1

5. . . 2 1 1 2 1 1 5
Solve the foll tion. =—- %= -2 = - x#= -2 g e el o
olve the following equation. —=—= =& = ———,x 66 oesa” S e Sl S5 i

6.Solve the following equation. |3+2x|=|6x—7| 1342x| = |6x—7] -/ # er FEen s 26

7.Solve the following inequality. 3(2x+1)—2(2x+5) <5(3x—2)

3@2x+1)-2@2x+5)<5(3x—2) -/ S S eils F s 27
8.S0lve the following inequality. 3(x—1)—(x—2)> —2(x+4) 3(x—1)=(x=2)> —2(x+4) /S Seble F U5 20008
9.Solve the following inequality. 1—2x <5—x < 25—6x 1=2x<5—x<25-6x -/ F el #5209

10.
Construct the following triangle. Draw the bisectors of their angles and verify their concurrency.

mCA = 5.2cm, mBC =3.1 cm, mAB =4.5¢cm

: ) 10
mCA =5.2cm, mBC =3.1cm, mAB = 4.5¢cm -/ 0+ § £r 45 L o G L Lo e b s 2

1.
Construct the following triangle. Draw their altitudes and show that they are concurrent.

mZP=105°, mZQ=30°, mRP =3.6cm
mZP = 1050: mZQ= 300, mﬁ: 3.6cm -u,?LMﬁ("'MJ/J”/QﬁA’ #(C@/‘))X&Ul ..u:/lhwi}',?/ﬂ.ll

12.
Construct the following triangle. Draw the perpendicular bisectors of their sides and verify their concurrency. Do they meet inside the triangle?

m<ZB=60°, mZA=30°, mBC=2.9cm

: ) 12
?ugJﬁJ(w:lLw:gwgﬁi(qu/gzﬁmﬁwt@/é@w&uuwuw‘j;g/p

m 4B =60° mZA=30° mBC=2.9cm

13.
Construct the following triangle. Draw their three medians and show that they are concurrent.

mZLX=75°,mZY=60°, mYZ=4.1cm

msZX=75°, mZY =60°, mYZ=4.1cm -uzﬁﬂo;fq//&ﬁm ﬁ;w/,éw-uﬂ.wd;?/mls

14.Solve and check. ,/x+7 ++/x+2 =~/6x+ 13

\/X+7 +\/X+2 =\/6X+13-@/&()&77’/3!u:/r)‘”_"{fgabl/(jjy/ﬂ.l4

15.Solve and check. ,/3x—1 —2,/8—2x =0 J3x—1-2/8-2x =L/ ey g S S Sienas

Long Question No. 5 Important Theorem

1.Prove that any point the right bisector of a line segment is equidistant from its end points.




-?n,lnw!d;l/f_u;/Lb;ﬁﬂ?u?nd!%wtd;r‘ébgﬁu’Jﬁi..{!fiq/cr.t‘.l
2.Prove that the right bisectors of the sides of a triangle are concurrent. S lw b = Sasf Z kot L ok J( J ‘_g/ =2

3.Prove that any point on the bisector of an angle is equidistant from its arms.

Ut L ke Salr - sl £ U1 )ﬁuft/;/v.vcéa,,uu’(fq/q ¢.3
4.Prove that the bisectors of the angles of a triangle are concurrent. Py Aol U L oads tf/fu/’/:r.b‘A

OR

1.Parallelograms on the same base and between the same parallel lines are equal in area.
St S (Un 4260 L 1) » e U Z 1 & 5 L1 osls 2 JE1 Lo S5 (‘5!)4»1&6’ LSS el

2.Prove that the parallelograms on equal bases and having the same (or equal) altitude are equal in area.

gt Ow s FoJes G §a5 Ss GG s ool c% £ Ussel 4z fq/;/. ¢.2



